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QUESTION 1

Which statement is true about baseline set definitions? 

A. Module level baselines are inhibited by baseline sets. 

B. A module can only be listed in one baseline set definition. 

C. Modules must be listed in the baseline set definition before the set iscreated. 

D. When a baseline set definition is copied, all baseline sets created from it are copied as well. 

Correct Answer: C 

 

QUESTION 2

Which type of links are ignored when performing a suspect link analysis? 

A. in-links 

B. out-links 

C. external links 

D. suspect links 

Correct Answer: C 

 

QUESTION 3

Which type of column contains information about objects that are linked to or from objects in the current module? 

A. graphics column 

B. traceability column 

C. link indicator column 

D. object identifier column 

Correct Answer: B 

 

QUESTION 4

What is the containerused to store similar relationship types? 

A. folder 

B. linkset 
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C. link module 

D. formal module 

Correct Answer: C 

 

QUESTION 5

Which type of attribute is used to display the values of more than one attribute in table cells? 

A. DXL 

B. Table 

C. String 

D. Enumeration 

Correct Answer: A 
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